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2. Write short answers to any SIX questions: [2x6=12) .#'qu*mm.;.y 4

+ Defing real numbors
- Sobw [x v 3yF e (x- 27

- Evaluale the polynomial for fhe value indicatad-

Pix)=x" - 10x3 + 7x +8; P{3)

wit- Wite down the methods o find HCE.
vis- Find LC.M by factorization: x7+64, x2- 16

tx- Find the square root by Factonzation 16z + 2dxy + Oy°

:.wn-m-m.mmmm
+ Defing 2 bnear equation.
B 30hve Nxe3)=14ex
- Sove: |2x-3)=5%
W Sohve by faciorealion Sx=x2 + §
v- Sobe: (x-37=4

Wi Hﬂlmmﬂmm

vii- Define a diagonad matrix
. [-1 2]
Wik A=
K {_3 _d.ﬁmhﬂ det A

i [ a3 4”—11
e (3 2]
L“ﬂmmhqﬂﬂ:m:
i Define chord.

- Fﬂhmﬂm; in the figurs.
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- Define contriod of the triangle.

fv- Draw an equitstesal rangls with iength of each sade 5 & om

- Btate the pythagoras theorem.

vi- Find the volume of a sphere with raadies 3 5 om
ﬁ-“lﬁmuﬁﬂmmﬂlw
- Encﬂef-?.llhmmm.
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(a) Find the value of a* -b®when a-b=4 and ab=-5 ab=-5sa-b=4 FZ i a®-03 () 6

(b)
(a)

Factorize: 216p° - 343

The product of two polynomials and their H.C.F. is
x4 - 5x% + 2x% + 20x - 24 and x + 2 respectively.

A S 216p®-343 (L)

A S Lol e () -6
U x+2 a0 x*-5x% + 2x% + 20x - 24

Find their L.C.M. JEEebe fi i) Kl
TV . PR R AL, (g .
oy sEt - 4 LH mxlux.TM -

(a)

Solve using quadratic formula: x% - 5x+6=0

uﬂ%h.tr“ﬂh\rwht._\ﬂmlmu+mnﬂ (ol T

(b) Construct a square whose one side is 3.5 cm. k2 F<35 nw..v.. K klrdl ()
3 J 4 2 4 2 3 6
a) If A= B= J = = Jy -8B
® T 1] T L,am_._ B T Ltp T || A0
find (AB)™ -ZEpd (AB)!
(b) Use Cramer’s rule to solve simultaneous equations: E S umnie 3l (L)
Bx +2y=13 S5x+2y=13
2x + 5y =17 2x + 2y =17

(a)

(b)

Find the area of the right triangle with legs 12 cm
and 35 cm.

Show that the points A(8, 1); B(2, 7) and C(-8, -7)
are vertices of a right triangle.
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- 1- For matrices (A + B)f= 9 Lt 2 B A LT (e B L1 L1

algt oy alv gl (o 8! (B FANTY

2- Bolubon setof x?-g=0 s ke I g opug -2
(23} o {3} (c) (£9) (g 19}

3- Solution setof [x|=3 |s etk PV [x]23 .3
0 (o (£3) © (=3} (@ {3y W

4 {a=-bjia® + ab + b%) = 7 (a=b)a®+ ab+bfp =7 .4
a’+b* (D) a’-p® () (a+b)® (B) (a-bp (&)

5- The co-ordinates of the crigin are il Lt B0l L e 5
{0, 1) (D) {0.0) (C) (1,00 (8 0 (A

B A line joming one vertex of a triangle parpendicular o et P e Lal e

its opposite sde is called

median b= (B) anghe bisecior AtV il [A)

side bisacior o' & (D) aftitude LU (C)

7- The number of techniques to solve a quadratic equation is JEALLS S ahlean 7
4 (D) 3 (C) 2 (B) 1 ()

8- HC.F of 8par. 15ars Is -i-f"ﬁ.lhl’ Spar, 15qrs -8
16pgra (D) dpars () dgr (B) Jpar (A)

B- For each number 'x' the absolute value of « |8 dencted by b ol fad My e 0
0 (D) x (G -x (8 1% | (A)

10- Factorzation of "= y* js e -y 10

Gt o) (0 ey ) @) ey v B -yl ey (A
..E_J..-'r,.-rlﬁ _u"_ Lo e uF u'r;l.-l'rq,rl,l.r"h:luulﬂ =11

11- The numbar of rows and columns = &
malrix determinas (s

detarminant ﬂ" (D) aolumns r'!l' (<) rows  J.E (B) ordar .= (A)

12 If x =& is & lactor of P(x), then Pla) =7 o PY@) P L4020 Plx) - 12
B D) 1 (B) 0 {A)

13- Area of a rectangle i .T.r.-r.,:hl‘._.r“-”’" =13
2 o) -;-i?.*b (B fxb o a

14 A sdraight angle contans bt K gl 14
380" (o) 180° (B} 80" (A

15- An irational number that contains radical sign js calisd & ...;.:ur'"“.-u.._mu:mu..}u_p .18
mixed surd bl (a)
natural ay rational numbar e Pt ({4}
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2- Write short answers to any SIX questions: (2x6=12) ,‘ﬁffwm,-"&:-ﬂrtm -g‘lj.r ..
3 2
I Find the lowest temm of ;j’:j: =2 el P T %IET !

i~ Defirge purg sundg.

bile Simplif: 4,050 + 200 + 450

- Fadtonge: ax +ay = - oy

v- Define lingar polynomials

vi- Evaluate sach of the polynomials far the valus indicated:
Plx)m x® + dx® - 027 0 193 + 6 ; P-2)

wii- Find HCF_ by factonzaton X & Bl
vin- Find the square root by factorizabon 48x7 + T12xy + Bay?

- Defing least common malfiple (LM}
3- Write short answers to any SIX questions:
& Daline ienear eguation
- Soive: |2x=31=5
10x=1 oy
2X+5
- Winte down the quadrativ formula.,
W- Sohve.  (2x o+ 3)n = 21=40
vi- Solve:  x° Thag

e - 185,

(Zx6=132)

- Sajve

Iq'ﬂ'

- Dalrs et makriy

Irl x | i e 21

| I ated Bi= .
b ¥ 11

vili- 5 A = et find A - B

I 4
2]
& Write siiert answers 1o any SIX questions:
+ Define complementary angles.
- Define parailelogram.
- Define diamater.
- Define incanter of the thangie.
w- Dirgw 4 citcle of radius 2.5 cm with cenra a1 O
wi- [afine s
vils Wiite forrmada of volume of sphers.
wifi- D conear poins.
te- Write distance farmuis io find distance batwean lwo points.
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7.

(A alozpnl 8l )

) If xui__w+u_5m==:n the value of
. l o 1
(i) X+— and (ii) X +|u
X X
3
(b) Factorize: 1— 3P

R

(a) Find L.C.M. by factorization:
V-9 (y+3)%; y’+y-6

(a

b : - < 14—
(b) Solve: 2 5 5

(a) Solve using quadratic formula: 10x? - 5x = 15

(b) Construct a arectangle whose one side is 6 cm and
an adjacent diagonal of 9 cm.

4 2

(@ 1 A=
5 4

% , then verify that AA™1 =1

(o) Use Cramer's rule to solve the simuitaneous equations:

x+2y=3
x+3y=5
(a) Find the area of the rectangle 2 m long and
18 cm wide.
(b} Show that the points A(4, 3), B(-2, 3) and C(-6, 3)
are collinear.
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S umme )l (L)
x+2y=3
x+3y=5
o 20U S P 5k BT (L) L9
e 5=18 Jug
C(-8, 3) » B(-2, 3) « A(4, 3) b5 S =t ()
B A
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